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47 NFEZERM
EF (WA, NBEZEM])
V BBz, (—fRIZIE, V£ RMICHER)

u,v eV

(4) (v,
N2 S

IREHAT (u,v)e RZXNIGSIEDEHEZV Lo AN &
> = <W7 >
v, w) = (u,w) + (v, w) ;
v)=k{u,v) (k€ER);
) > 0. gj‘ﬁ)ﬂﬁi@v—@

ol (BEIN)MPZM V 2 WREZER &\ 5.

-3 (HEEET )

KRIAREL 1A %8

2/7



1) V=R" (W,v) :=uev=uv; + -+ Uptp. (T—27 Y v FHH)
2) V =R2, (u,v) := 3uivy + 2uqvs.
3)V:M2,29A:( or o2 ),B:( Z; = ),

a3z aq by

(

(

(

(A, B) := a1b; + agby + agbs + a4by.
4 V=R[X]2op=ao+aX +aX?q=by+bX +bX?
(p, @) := apbo + a1b1 + azbs.

(5) V = R[X]n 3 p(2),q(z), (p(z),q(z)) := [, p(z)g(x)dz

FHI5 (I—Y— - Y au LY OR%

)
Vo WBEZERM. u,ve VIZRLULT, (u,v)? < (u,u)(v,v).

(FEA) t € R. 0 < (tu+ v, tu+ v) = (1, n)t? + 2(u, v)t + (v, v) =
at? +bt+c £V, b2 —4ac<0. . (u,v)? < (u,u)lv,v). O

V=R (uv)=uev=uo £+ . (22 ¥ KA
(u101+"'+unvn)2<(u1+ +u )( 4. +U):j~y_®$%fﬁ
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48 MHNEZEMIzBII3 [EX) )
EF (/ IV, )

Vo NREZEE. )
ueVao /A |u:=(u,u)?
u,veV OO du,v):=|u—v|. (- distance)

WEZEBVIZGEZoNZHNE (u,v) TEIZ/IVA LN EE 5.

V:Rn, <1L1,W> =UevV =uv + -+ upv, - d—271)w ]\“Ij\jf'é
ul| = ()3 = Vi + - FuZ: =2y KA.

du,v) =|lu—v| = (u—v,u—v)%

= /(ur —01) 2+ (tn — v,)2 1 =2V v REEE.
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R PR
(1) ul] = 0; d(u,v) > 0;
(2) Jul|=0<u=o; du,v) =0 u=w;
3) kull = |k - [[ull; d(u,v) = d(v,u);
@) |u+v|[<|ul+|v];  duv)<duw)+dw,v).

(FEHA) W&, (2 pp.206~207) (FFiZ, (4) 13 AAREA & XidNn5)
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I—Y— - va7LVoLrERLD, )
(u, )2 < (u, u><w v)=[lul]*- [v|]*. =T, (M> st

- [Tull-vl

1< Y21 XD, cosh = ¥(0<39<T()

(IR IIVII [uf[-[T]]

> DO UE vDRTH LN

def .
u,veVAER = (uv)=0(=0=17).

(u,v) = 0= |lu+v|? = l[ul]® +||v]?

GEW) |[u+v|]? = (u+v,u+v) Ty Foh
= (u,u) + 2(u, v) + (v, v) W \\EZ/,»
= ||ul? +2-0+|v| O 7
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’ =
Vo NREZEE. (A (u, v) 2E R S Nz i Z2EH)
Scv:Exss &L (u,v) =0 (Vu,v € S,u # v)

ScV:EHELES &L SRELEEDD |[u| =1 (Yue 9).

» ER G Jlul| =16 VA =17

v = (0,1,0),v2 = (75,0, 75),vs = (75,0, —75) € R%.
S = {v1,ve,v3} C RIFEHELREA.
" (v1,v2) = (vi,v3) = (va,v3) = 022 [[vy|| = [[vz]| = ||ws|| = 1.

o£veVIiZRHLT, v = L4, ||w'||:”71||-||w||:1.
> vS VA =1" DV BESZEE EHE VWD
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